Q17

The equivalent resistance between points 4 apg
B of the given circuit is ....... (1907

: :
Sol. All the three resistors are connected in parallel.

The equivalent resistance is Req = (2R || 2R) | R=
R||R=R/2

Ans. Rf2CE

Integer Type

Q48. In the following circuit, the current through the
resistor R(= 2 ) is I Amperes. The valueof [is.......

R(=20)

I

6.5V =

120

Sol. Consider the resistors that join the nodes B, -
D‘. and E. These resistors form a balanced Wheatsto®?
bridge between the nodes B and D. Thus, 8 {} resis*
in th:e branch CE cap be removed without affecting b°
circuit (see the right figure below). Effective resistanc®
between the nodes B and D is Rgp = (151-;-2“] |
2R+49)=30) | (60) =20,

o quivalent circuit is shown in the left figure be-
jn this circuit, consider the resistors which join
h;' podes B, D F, and G. These resistors form a bal-
t o Wheatstone bridge between B and G. Thus, 10 1
W or between D and F can be removed without af:
ting the circuit. Effective resistance between B and
g is (middie figwre below) Reg = (60 4 120) |
a0+ 4 =(189) | {ﬁ (1) = 4.5, Thus, the effec-
five resistance of the entire circuit (right fgure below)
sRg=201 450 =6.5 9. The current through the
wistr R=20038 1 = V/Reg =65/65=1 A,
\ R

Ri=20g A Ri=am)g
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